
 

 

Answer on Question #61841 – Math – Algebra 

Question 

 

Model the Earth as a sphere, and take the diameter of the Earth as 12740 km. 

Calculate the circumference of the Earth. 

Calculate the surface area of the Earth, and give your answer in scientific notation. 

 

Solution 

The circumference is calculated by the following formula: 

𝑙 = 2 𝜋𝑅,  

where R is the radius. 

So circumference is equal to 

2 𝜋 ∙ 12740 ≈ 80047 𝑘𝑚 = 8.0047 ∗ 104𝑘𝑚 

The surface area is calculated by the following formula: 

𝑆 = 4 𝜋𝑅2, 

𝑆 = 4 𝜋 ∙ 127402 ≈  2039617455 𝑘𝑚2 = 2.039617455 ∙ 109𝑘𝑚2. 

Answer: 

Circumference = 8.0047 ∙ 104𝑘𝑚. 

Surface area = 2.039617455 ∙ 109𝑘𝑚2. 
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